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PP ) o
sm0-—r—|7 cscﬁ—y—|5
8 _ g 1
cosG-—r—l_/ seco_.x_g
tant9="=15 cot0=£=—8
5 15

g_l_iﬂ__gﬁ
SMERES 25 25
Y e N
¥ _ =24 24
B g= ==
O G
BeUV=3T"247 "4
e - R
sec 6 = =33




x=2,y=—-2

sm0=—=;2-=—i——ﬁ
roo2\2 2 2
RO . S I
roav2 V2o 2
7. o B
tanO—r— 5 = |
csc0=-=2}/—52-=—\/§
secﬂ=£=g-\2é=\/5
AT S
cotﬂ—y—_z— |
x=-—3,y==5
r=Vx?+ 2 = V(=30 + (=5 = V34
— - 5V34
S r - Vaa 34
0=£=—_3=_3\/3_4
oS = T Vaa 34
9. Y_=5_35
nd=3=_3=3
ot V3 _ Vi
csc —5 3
gor_ Vi _ Vi
sec -3 3
X _-3_3
cot # = =53
€5
11x=—7,y=—4
. S
tana—x— 7=




S€C 9=£=l undefined
x 0
cot0=§=9=0
y 1
r |
cscfh=—=—=—]
y =l




17.

0 NN “

The terminal side of @ lies in Quadrant I1.
So, ' = 180° — 150° = 30°.
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@ is coterminal with 350° whose terminal side lies in
Quadrant I'V. So, #' = 360° — 350° = 10°,
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@ 1s coterminal with Z%T- whose terminal side lies in
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Quadrant II. So, ' = 7 — 5 =5
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@ is coterminal with “Tﬂ whose terminal side lies in
Quadrant IV. So, #' = 27 — I—I(’lr- = %
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0 = 240°
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0" = 240° — 180° = 60°.

Tangent is positive in Quadrant I11.
So, tan 240° = tan 60° = V3.
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# = —420°
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# is coterminal with 300°. So, 6" = 360° — 300° = 60°.
Cosecant is negative in Quadrant ['V.

So, cse(—420°) = —csc 60° = —-2—‘3/—5.
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# is coterminal with 5%'— So, ' =

4
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Cotangent is positive in Quadrant III.
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Secant is positive in Quadrant I'V.
So, sec LT = gec T = 2v3
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